H oY

%%%
i

1. ¥¥4
EW4 SR6EE FEiE S 7 B DHIHIXE KB S RS
JEATYHT REAR « X - BTgkERE AR HRFTE N
2. EBEAR
1) FEF4 REAT) | [EE 5T JEREE P i
182 H R H Sf1 64 6H29H

2) BITHIRM

£ Af 6412H27H

3) wHwyI

SRR (B, PROTfR
B4 T SROMIREAT ) b DO Th 5,

4) FEHBNA
BE TEERRILR) D LBY

AFEBIT, BEA - R - PIRREREAERHHIRFTENDEIE 3 5 - 5 7 BIZRV T,
) KO =y FORBEIT, B ORER

E+sZi@E SN



FEH N

%ljll
I

¥4 | DR6EE [EES 7 5 SHIHIRIE IR % SRS ¥ BGES
H H TEEE h % AR
THHE - THE - R BT B & 4 OB RR
TE PR AR v 1 20, 975, 725
T I B R A 2V 1 20, 848, 525
RARETE 2y 1 2,095, 640 | HEFHHEENER
1 X
B BB IR A
1 X
B Hh ks
1 X
BELREERS ek S R ERK
1 X
JE BRI IR AT AR X 1 150, 727 | #% - AR (BAER)
1 pAe
(B
- TR (B
1 pAe
(&)
FREAT
6 #
(&)
TE I BB R R = 1 8,503, 871 | 4k - fHuik (HFEZD)
17 #
(&)
T - TR (R0
20 #
(&)
REBAT
259 #
(&)
- TR (P
10 S

-1- E+sZi@E SN



m
2
%

==
=]

W4 | D6 EE [EES 7 54D HIMIRE R RS SRS E AT ESS
HH T B it 5% SR
THH - T - R A7 B & & KA OB AR
(E)
- TR (PR
23 £k
(&#)
vy REMSMR 2y 2,865,600 | = F (Bt
4 1 G K
()
vy N (s Y — )
1 H1 G K
()
s EIER X 7,232,687 | mRFAEVER GEESHEY I AR
) 8 =
FURFAEERR CEBSHE R s
) 329 H
FRRFAEER (= > REMAR)
5 =
S EER
1 A
ZNBR R R SRR = 127, 200
NP R S VERC Y = 127,200 | ZABAHIRCESHVERE
1 =
BiStii} = 338, 000
iE G - GHEER) = 338, 000
Tavs = 338,000 | ¥T&tE
1 =
[ERES Y = 11, 029, 770
[ERE5 S = 11, 029, 770

E+sZi@E SN



N

==
=]

=4
SR
i
ull
s

EHA | BRGHEE [EHES 7 54 SEIHIOE B B RS E BOES
H H B
THH - T - fER] B fr % & 4 % OB ORR
TR AR E = 1 317,574 | e (SEEHLE - mRiE)
1 =
Ty 2 1 225,000 | AR R
1 X
Bty 2y 1 4,060, 926 | g
1 X
LR 2y 1 6,426,270 | 4%
1 X
EHEEA (ZOMFmER <) 2y 1 32, 343, 495
Z DA = 1 11, 477, 440
— R A = 1 23, 589, 065
SRR =X 1 67, 410, 000
T B R — 2R = 1 220, 660
T R 2B = 1 220, 660
T N 2GR 2 1 220,660 | 7 — X~ RARGERE
1 =
EEEGE = 1 220, 660
MR = 1 -660
iS4 = 1 -660
SERSMA = 1 220, 000
SERSMA = 1 67, 630, 000

-3 - E+sZi@E SN



